

۱ $-1\frac{2}{3} - 1\frac{1}{5} \times \left(\frac{-24}{-15}\right) = \dots\dots\dots$

۲ $\left(-2\frac{1}{2} \div 3\frac{1}{3}\right) - 2\frac{1}{2} \times \frac{-4}{15} = \dots\dots\dots$

۳ $5 - 5 \times \left(2\frac{2}{4} - 3\frac{1}{5}\right) = \dots\dots\dots$

۴ $5 - \frac{-3 - \frac{1}{3}}{2 - 5\frac{1}{3}} = \dots\dots\dots$

۵ $-6 - \frac{1}{3 - \frac{1}{4}} = \dots\dots\dots$

۱ حاصل ضرب‌های زیر را به دست آورید.

۱ $\frac{-4}{8} \times \frac{-5}{2} = \dots\dots\dots$

۲ $-\frac{-3}{-2} \times \left(\frac{-15}{-4}\right) = \dots\dots\dots$

۳ $\frac{-4}{-15} \times \left(\frac{-7}{-12}\right) \times \left(\frac{-20}{-21}\right) = \dots\dots\dots$

۲ حاصل عبارت‌های زیر را به دست آورید.

۱ $\frac{-24}{25} \div \left(\frac{-36}{-15}\right) = \dots\dots\dots$

۲ $\left(-3\frac{3}{5}\right) \div (-2/7) = \dots\dots\dots$

۳ در هر بخش، به جای \square عدد مناسب قرار دهید.

۱ $\square \times \left(-3\frac{3}{5}\right) = 1 \Rightarrow \dots\dots\dots$

۲ $-4\frac{2}{3} \div \square = -1\frac{1}{2} \Rightarrow \dots\dots\dots$

۴ حاصل عبارت‌های زیر را به دست آورید.

۱ $\left(-\frac{3}{5}\right) \div \left(-\frac{2}{5} + \frac{5}{6}\right) = \dots\dots\dots$

۲ $(-2 + 3 - 7) \div \left(-\frac{1}{2} + \frac{2}{5} \times \frac{-15}{-8}\right) = \dots\dots\dots$